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1) UJetreupd wnfleviisefles 2011 Spd Sp6v01(H
&S QBMTems SHevvts0\s[HLIL6LIY (50560 S 56T

@iy ez Gsnmeuns 2 eitem MHleld 618)?
A. snmesle T

B. Lepaml

C. wsHw NnGsabd

D. Gsyerrm

In which of the following states was infant
mortality rate the lowest as per Census-2011?

Maharashtra
Punjab

Madhya Pradesh
D. Kerala

owp

2) @&ev Camiun® ubmplw esteupd Fammiserleo
Seaumnestiemeu C5NmH0S5®H.

1) oevesg  QoeusEnd  emiolflgyd

auenj&lengonmm GFwevsefleyd SigliLenLuilsy

556061

2) QgevelletT SjemwlieOLWD QFWELHEMETULD

sLbUuBSgeug DNA =235w.

A. 1or @b

B. 2 L (Bib

C.1&2

D. eigleyb Gevemesv

Which statement is wrong about cell doctrine.

1) Allcells are basically alike in their
structure and metabolic activities

Learning Leads To Ruling

2) The structure and function of the cell are
controlled by DNA

A. lonly

B. 2 only

C.1&2

D. None of the above

3) QUNBSE)5.
a) genwLlLrdlen - 1. QeTliQL(HEHES CF6v86iT
b) emwoL_Lnéleiv - 2. pbum

c) swndleiv - 3. 21 6 QF6vaEET

Match the following.

a) Amitosis — 1. Reproductive cells
b) Mitosis — 2. Amoeba
c¢) Meiosis — 3. Body cells

ab c

A3 2 1

4) QuNB5Z)s.
a) LMEREMTeL - GaHTeNT LHMID SFHILET
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b) BTFQeusILT — eurbismeriD
c) UG el QFFADT — HEFMLD

d) sy - LEpEML HMID amiflwmestT
a b cd

Al 2 3 4

B.2 1 4 3

C.3 2 1 4

D.1 3 4 2

Match the following.

a) Mango Showers — Kerala and Karnataka
b) Norwesters — Bengal

c) BardoliChherha — Assam

d) Loo — Punjab and Haryana

a b cd

Al 2 3 4

C.3 2 1 4
D1 3 4 2

5) SwsseviLaubmiet  WHFSWMET  Flemmenw
GYuug) e181?

A. $leunstr-@-Siferv

B. &leunstr-@-ramevs
C. Heunstr-@-eunfys
D. Sleuretr-@-@etro2m

In the following which mentions Religious
Department.

A. Diwan-i-Arz
B. Diwan-i-Rasalat

Learning Leads To Ruling
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C. Diwan-i-wazirat
D. Diwan-i-Insha

6) 1939 6 pBeOLOQUDD v QiHw

omblevriigeifl6dT L& &6 MBI Ip65T HEm6eveurj wmy?
A. Gunéleormsv Cm(m

B. o10@ussry

C. sgeuamijevnsv Grp(H

D. snb&luwllpsei

Who among the following was President of the All
India States Peoples Conference in 1939?

Motilal Nehru
Ambedkar
Jawaharlal Nehru
Gandhiji

S vowy

@bHw  ummEeBLemSHe UL GBI
AP SULESSUILLL Spe50T(® 61517

A. 1954
B. 1957
C. 1959
D. 1962

In which year the Zero Hour is introduced in
Indian Parliament?

A. 1954
B. 1957
C. 1959
D. 1962

8) umeflensCuwnsstm) @&wevL(HLD aleniy

Stenouiflest 2 51 WANIES) (G eTedTUZH] _____.
A. Byl Lesflest (ps6d aflg
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B. Bl 1 esfletT @nesor_mb eflg)
C. Hlul L evfledt epsdTmmd eflg)
D. Gums&6ssTL 61516)D Q60L6mI60

Momentum remains constant in absence of
external force is statement of

Newton's first law
Newton’s second law
Newton's third law
D. None of the above

oW

9) Grmiflw QellwrkissT wnHenLw SifFeneuuilev

SIPl(psd Qe Lg)?
A. am®omyest

B. &i60U1F

C. gammmady

D. eprnsggammest

European painting was introduced in the court of

A. Humayun
B. Akbar

C. Jahangir
D. Shahjahan

10) ysotm Fijeuggent Femuenw Sevo1BLilpSSHeuT wmj?
A. A7 gy Cameip

B. 5Gevot6e1p uns@seu Ggnagl

C. aneibs Caneip

D. o608 Glonsest GLimer

Who is the founder of Poona Sarvajanika Sabha?

A. Sisir Kumar Ghosh
B. Ganesh vasudev joshi

Learning Leads To Ruling
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C. Aurobindo Ghosh
D. Anand Mohan Bose

11) unmymepwenn Fal BHFalLD S HHI)
i(h&aULLLE)?

A. opendlGreslwm

B. @rudleonri g

C. sev1Lm

D. sgliuimest

The provision of the joint sitting of the parliament
is taken from

Australia
England
Canada
Japan

oo wp

12) Gs&w

SEMWESHLILILL S46001(H 61817

Hhu@SsUuLGLIT  S4,6mesoTLD

A. 1990
B. 1993
C. 1994
D. 1996

In which year National Commission for Backward
Classes was established?

A. 1990
B. 1993
C. 1994
D. 1996

13) LGpnGumevilwy FEHe 2wWnHmsL

QummIZ g Qeuliublenev

A. @empub
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B. oiflsifla @0
C. wrmmg)
D. Ggmymuiions omm)Lb

In the troposphere, temperature ____ with
altitude.

Decreases
Increases

Remains the same
D. Changes Randomly

oW

14) Guwev euefloessievsHeor Hev (HOILL
uedsefles Hs GCussdler ealsbd SMHMISHES

eT60T60T QILIWI?
A. &mmeuerfl

B. eig)ij (gmmeusrfl
C. umeaussTHMI
D. QgL smhGmm L b

An upper Air wind system with very high velocity
in certain parts of the atmosphere is called ____.

Cyclone
Anticyclone
Monsoon
Jet Stream

Uow»

15) weifls BHEFQFalUller 26em  Liemevomhg
ey s erfletr eTevvTevuflgHenas wing)?

A 2

B. 4

C.3

D. 5

Number of tiny inter locked bones in middle ear of
human bodyis ____.

Learning Leads To Ruling
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16) eflems &6 (pemens s L6t 1H6v 2 6fT6N 6lVLMTE

6T65T6UTOUNS; LOMM|LD?
A. sterlll Fj&HSHe0T

B. gal ( 65601

C. ugswb

D. smjGumenam Gy

When a dormant seed sprouts, its starch is
convertedto ____.

Simple sugar
Compound sugar
Protein

D. Carbohydrate

oW

17) ver oiwss sTsHle 155 NWSSEMS
Foné@eug) e1g)?

A. emgynsenslest

B. @il iflestellest

C. @etra60l60T

D. Gumh&sessiL 61gia)b @svemen

Which of the following regulates blood pressure
during stress?

Thyroxin
Adrenalin

Insulin

None of the above

oowp

Page 4 of 24



http://www.winmeen.com/

Group 4 GS Model Test

18) o m5Het eflallevaey Hems eaHemevTE

il Siemouo?

A. 26m_g5 86T LTSS

B. 26m_g 58607 erflaflevgsev eTesst
C. 26m_g5 86T HevT60ID

D. 2em_s&gletT sTemL

The direction of light deviation in a medium
depends on

Density of the medium
Refraction number of medium
Nature of the medium

Weight of the medium

oo wp

19) Q3 emevCHNs: & SevvTevutiy aflévemeva: 6l Gl

2 sa|b evflold e1g)?
A. wGrmiflwib

B. QLylww

C. s69Guniesilwd
D. sunbgeoild

Which element is used for making Telescope
Lenses?

Europium
Terbium
Californium
D. Lanthanum

ow»

20) opuilflasneilsst  Gawiflwetteiv  GBMiISS

SIIJEUVTLONGTTS| 618)1?
A. stesoTLLSLIM anflenv@LeSlipsim
B. Ul.emausungeny

C. wifluer@amom GaoLilwesTery

Learning Leads To Ruling
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D. Ul.umevdlumgo

African sleeping sickness is caused by

Endamoeba Histolytica
P.Vivax

Trypanosoma Gambience
D. P.Falciporum

owp

21) @nevoriLmb SBEFM&H] 66T SEOPSHSLILILL I

wm?

A. s15UT

B. smeuBgnsn
C. sesfleipay
D. amijep

Who among the following was called Ashoka-II?

A. Akbar
B. Kalasoka
C. Kanishka
D. Harsha

22) SpseviLaummieT USH FESHISHT UbHw
giflunes samm) 615)?

1) Ns@set eeomm swows Gipelser ghis

2 miuflerigemme) ussiflesr  GunsenesIBERET

urgiilest.
2) s 2milflemsenms QUETEISEHD, SPgNS)
&5 (EHLD B (1HHS60T).
A. 1ol @b
B. 2wl (b
C.1&2

D. GumaessL egl6Lslsvemney
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Which of the following is true about the Buddhist
sanghas ?

1only

2 only

1&2

None of the above

oo wp

23) uetTiemILW HMev emamLTevLeN B GSMILILZ
6151?

A. nmefl

B. gfeuid

C. Ywmerv

D. &Abg)
Hydaspes River of Ancient India represent ____.

A. Ravi
B. Jhelum
C. Beas
D. Sindhu

24) (pSUINLEFID 6160 HTemev @uimnflwieury wimj?
A. @semgeowy

B. Quasivgerstlsiv

Prepared By www.winmeen.com

B. J.P.&\(puemmest]
C. ggeuamijevmev Grm(m
D. 106)|60IT6BTIT HHLIED &HEVITLD HFMS

The President of Indian National Congress at the
time of partition of India was ____.

C.Rajagopalachari
J.P.Kriplani

Jawaharlal Nehru
Maulana Abul Kalam Azad

owp

o

26) QU5 515.
a) umuy — 1. Qe
b) anflwmuyest — 2. sebreur
c) &sUly - 3. Gueury

d) ganmmdy — 4. anmsvdad

A2 1 4 3
B.1 2 3 4
C.3 2 1 4

D.4 2 1 3

C. sneflgnay
Match the following.
D. ellgnss551
a) Babur - 1.Chausa
Who was the author of Mudrarakshasha? b) Humayun - 2. Kanwah
c) Akbar - 3. Mewar
A. Kautilya d) Jahangir - 4. Haldigati
B. Megasthenes
C. Kalidasa a b cd
D. Visakadatta A2 1 4 3
25) Jdifleflemesruilesr Gung Q@BnHwu  Czflw B1 2 3 4
snmaslnenslest Hemeveaunns @ (HH euT wim? '
C3 2 1 4

A. C.yne@amumeong &l

Learning Leads To Ruling
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D.4 2 1 3

27) uev eflflgnsemy eflf) wnymev FamULLLg)?
A. soeumitlwiy

B. GeonGonGeutmery L1

C. LmevoLest

D. u@remeivl

Law of multiple proportion was stated by whom?

A. Lavoisier

B. Lomonoss off

C. Dalton

D. Proust

28) Flemenanedlflerflerv Hlars16mey
uwebtTU(HSSLILED ATP eevs gam)seflest

eTeuTevnilgenss wing?
Al
B. 2
C.3
D. 4

In glycolysis, the number of ATP consumed is

D. 4

29) wn(penLw smevdHlev umanflwnest QrbHlwnailso
Q60TUS)| SevoT(h&:enns SrSlull(HHsmy?

A. (pgeomd EHSNGLS

B. 50587 GUST
Learning Leads To Ruling
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C. @y GLUsT
D. @uesorLnid FHSFELIST

Fahein stayed in India for Nine years during the
regionof ____.

Chandra Gupta - I
Samudra Gupta
Kumara Gupta

D. Chandra Gupta - 1II

owp

30) UletTeumeussteummisT SHeumnest QenresvIen

C5IHE50-
1) uMev BRIGNST Hlevs | LIDLIMII FhigLD
2) Guwifl smeuesTL : Gs&Ww @& SHP&HLD

3) &sGuBSHIHNS UmeTTeS) @nsu  Caflws

ol _L6mIDLIL|
4) o4ev15S Gomsest Guimen @ @b&HIW FhigLd
A 1or @0
B. 2 I (W
C. 3 & 4w {Hw
D. 1&4 wl §b

Which one of the following is not a correctly
matched pair?

1) Bal Gangadhar Tilak : Bombay Association

2) Mary Carpenter : National Indian
Association

3) Surendranath Bannerji : Indian National
Conference

4) Anand Mohan Bose : Indian society

A. lonly
B. 2 only

C. 3&4only
Page 7 of 24



http://www.winmeen.com/

Group 4 GS Model Test

D. 1&4 only

31) Wereud Hapasefles eag  Nfllges
iHljeuns&sletr
&H3ULGEDG?

wrsflwelsvedl L  eTewr

A ulLwE FlLb 1813

B. @nressfluflett Sinfléens
C. aumgmentl Lifleflement
D. @Qemeul_ &L L LD

Which of the following event a considered as
Machiavellian devise of the British in the
administration?

A. Charter Act of 1813
B. Queen's Proclamation
C. Partition of Bengal

D. Rowlat Act

32) QU5 SIs.
a) &658TestTMTy. P SBH60 — 1. PIrkis SMTLGCETL
b) &meflCGam D15 ([HGH60 — 2. GUTLLTEE H6vensy
c) Gamev &erfliby — 3. emam L @ LiEeniflé Sibleuld

d) smemmest GQ&mevedl — 4.  QumlLmduwib

oL (&GErmGLoL

Learning Leads To Ruling
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Match the following.

a) Etching on glass — 1. Zinc carbonate
b) Calico printing — 2. Bordeaux mixture
¢) Skin ointment — 3. Hydrofluoric acid
d) Fungicide — 4. Potassium dichromate

a b c d

33) SpssevoLeupmie Fflwnest eunsSLEISem6T

sevo1(HLilig.

1) emsrmer  Gosmullsy  UeuGsrTsiveunsdHlev

SIENIDIHGI6TTETG).

2) @fws Ganuiley QaMesTTisHSH60 SHemLbHGI6Teng|.

3) Heveumpm  Gamufley  weyestT  SiLeiley

SHEOIDTHG 66N

A.1&2 L@

B.2 &3 L {ib

C.1&3 L {Hib

D. G 56507 H6m6TIHGILD
Find the correct statements.

1) The Lingaraja temple is located at
Bhubaneswar

2) The Sun temple is located at Konark

3) The Dilwara Temple is located at Mount Abu

A. 1&2only
B. 2& 3 only

C. 1&3only
Page 8 of 24
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D. All the above

34) UnfHany eubssHev lsad FHSH eumilhs
SITENNS Q(HHS6UIT wirj?

A. (pHeomid BNsLIL LT

B. @nessTLMD BASLILLIY

C. w@asm&y Lmevry

D. 0flnGumeyy

Who was the most powerful king of Prathihara
dynasty?

A. Nagabhattal
B. Nagabhatta Il
C. Mahendrapala
D. Mihirabhoja

35) SpssevLaummiet  edlesfllud  GQum
uwetTu(Hd Hg) 6187

A. unsengL

B. Gamevinement.

C. Gumnmseny

D. GamwsoL L

Which of the following is an ore of aluminium?

Bauxite
Colmanite
Borax

D. Hematite

ow»

36) o153 QmNMIGEL HenNFesledT LISTITL Di6v6v?

A. gisenserflstr Siemey — 10A° (p&6b 2000A° 6ueniy
B. uevLIpS G TenT H6BITEFEL

C. uneyLd H6dTEMLD DM

Learning Leads To Ruling
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D. geflenw Ham Gewng)

Which is not the property of suspension solution?

Particles size — From 10A° to 2000A°
Heterogeneous solution

Diffusion does not occur

D. Does not scatter the light

owp

37) oiBUT LA sMevsHed QHHS USPELDHMD
epaflwiy wimy?

A. 197 5uT5 o160

B. @i&08) a1 SiLgTeN
C. sey85 216\

D. @505 216

The famous painter during Akbar's reign was

A. Mir sayyid Ali

B. Ahmad shah Abdali
C. Shaukat Ali

D. Ahmad Ali

38) GanLlevL, BEESHST HHWD WHNID SP HSHLD eTevt
ewssronal Uiflssuuliymbs @Gr fAbgl Fwkeuefl
Brsifle semd 615?

A. ampuium

B. Gazmevmailym

C. Goungs6v

D. smeflumigest

The only site of Indus Valley Civilisation which is
divided into three parts as citadel, middle town
and lower town is

A. Harappa
B. Dholavira

Page 9 of 24
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C. Lothal
D. Kalibangan

39) seumnest @emevsrenw CHIHOS 6.
A. Grsredl — INA

B. aflGsormum unGeu - L8] smestid

C. GwLb smom - umfleiy @

D. amiswme’ - &5 &L

Choose the wrongly matched pair.

Netaji — INA
Vinoba bhave — bhoodan Movement
Madam Cama — Paris Group
Hardayal — Gadhar Party

oo wp

40) engeunsent aubFSHenS Hlimiaflweur wimj?
A. ysyjomuil
B. #g&ijeuil
C. QzengLi]

D. fepsn

Who is the founder of sathavahana dynasty?

Bulumayie
Sathakarni
Gowthami

D. Simuka

owp

41) Qunp5515.
a) smull — L simILsm
b) @SS ~ 2. GRS
c) uensuilemev — 3. SpHHITT
d) evstev — 4. GoM(& eurISBTETLD

a b c d
Learning Leads To Ruling
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Cl 2 3 4

D.2 4 1 3

Match the following.
a) Coffee - 1. Karnataka
b) Cotton - 2. Gujarat
c) Tobacco — 3. Andhra

d) Jute — 4. West Bengal

42) 5° auL&G (psev 5° QaM(EG eueny 266N L&
Gremsl LG eTeusunm] Sieops&LILGEIDSI?

A. BHenT S 5Crems

B. oi6md) 16BoTL 601D

C. glem658T HI(HEY SHMPEU(LES LOETITL VLD
D. gi(Heu 2.1 Si(1p5S LD6BETL 6VLD

The region located between 5° North to 5° South is
calledas ____.

Horse latitudes

Zone of total calm
Sub-Polar low pressure

D. Sub-Tropical high pressure

0w

43) 26vfletr @nevoiLneugy) Quiflw sZIY  Hlevs

SM(H&6iT 2.6iTem QLD ____.

Page 10 of 24



http://www.winmeen.com/

Group 4 GS Model Test

A. sbgTeuetTEST(H&6NT
B. Y&gmsuryb
C. Vg1 sevflam

D. oyeotiLipm

World's second largest Mangrove forests located at

A. Sunderbans
B. Pichavaram
C. Baiterkanika
D. Azhalapuzha

44) Qunmennsny HILLID 6T65TLIS)| 6T865T LIGSOTL|?

A. seolil QUM(HETTSTTLD

B. @rLlenL QumBemAgTyLD

C. Ggnewella QUMBETISMILD

D. wpsevrerflgieu QuUMBEMTSNILD

Economic planning is an essential feature of ____.

Mixed economy
Dual economy
Socialist economy
D. Capitalist economy

owp

45) Aeutiy By sWSHILULEDL Caiemev L &6l

6TH S CUEMSHENUI FMIjIHH6UITEH6IT?
A. GeuemmesoTenIo

B. surail Lissstlwimery

C. opdliflury

D. Gzemeu

Which of the following is a Red-Collar job?

A. Agriculture

Learning Leads To Ruling
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B. Bank officer
C. Teacher
D. Sevice

46) siflwnes Fanm| 6152

1) ywev smHM euL CHMEMMIESSHSH60 SleshMy (W6iT

Slenguilev SPeVID LIGTETLIEDL LS.

2) QgL &G L @hHlwrealley Liheussmhlest

(@F:3]) (¥ HTVSHENSH LD 28| (Plp6uemLULD

sMevSengW b HljswruilsSms|.
A. 1B

B. 2 bl (hbd

C.1&2

D. Gum&esstL e1g16)b Q6vemr6v
Choose the correct statement.

1) Cyclone winds rotate clockwise in the
Northern Hemisphere

2) Jet streams determine arrival and
departure of monsoon winds in India

A. lonly

B. 2 only

C.1&2

D. Neither

47) @S flaieu eurnkif) gleumkisULLL Spet01([H 61517
A. 1929

B. 1931

C. 1933

D. 1935

RBI was started in the year ____.

A. 1929
Page 11 of 24
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B. 1931
C. 1933

D. 1935

48) @nHwnellest (pz6v wWHMID Sl QPrHw

seujeotij GlegevTzew Wimj?
A. weysserl GuiLesr Ly

B. Gm(p

C. nmg@amunsongemifl
D. smognegry

Who was the first and last Governor General of

A. Lord Mountbatten
B. Nehru

C. Rajagopalachari
D. Kamaraj

49) @BHw  snFwevenwdlIE FLLHSl6T S
FaMULIL (D66 SiiplILIEnIL HLEDIDGEIT 61856016017

A 8

B. 10

c.1

D. 13

How many Fundamental Duties are provided
under the Indian Constitution?

A 8
B. 10
c. 1

D. 13

Learning Leads To Ruling
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50) eyemipaseThdi(& QFNevuiRE:6T QFIoug) HLajemen
GU6TTIIEI(GEuUSM(S FLOWD 6T60TM)] Samflweury winm?
A. LETHLT SMHS)
B. oiettement Qg r&T
C. seums) efllGeusneotbm
D. nmo&)(mHeip6sst LITLOAMDE]

Who made the statement : ‘ Worship of God
through the services of the poor ‘ ?

Mahatma Gandhi

Mother Therasa

Swami Vivekananda

D. Ramakrishna Paramahamsa

owp

51) &flunest samenm CoIHOSH .

A. yallullest gpnefl Qeuliugeng eafll 20- opbd
EHmesstigsv 0.6° C 2 Wb gemensg|.

B. uyellllest gpnefl Qeuliugens efl 20- opbd
EHmmesstigev 0.3° C 2 wijbgleTeng).

C. uellllesr sgnefl Qeuliugeng efl 20- b
BHmesstigsv 0.1° C 2 wifbg)siteng|.

D. uyellullest gnnaefl Qeuliugeng eafll 20- oy
ETHmesstigsv 1° C 2 wWijhgleTeng).
Choose the correct statement.

A. The global average surface temperature has
increased over 20" century by about 0.6° C .
B. The global average surface temperature has
increased over 20" century by about 0.3°C .
C. The global average surface temperature has
increased over 20" century by about 0.1° C .
D. The global average surface temperature has
increased over 20" century by about 1° C.
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52) @eoujl wGFIBHT WNHEOLW HMevSHHl6v

AN (psUuBSSUUCLS?
A. eSlLLest Uy

B. amesfla LNy

C. sijgeor Uy

D. fliuest Ly

During who among the following viceroy’s period,
IIbert Bill was introduced?

Lord Lytton
Lord Canning
Lord Curzon
Lord Rippon

oo wp

53) 1947 6v @pHwnallef(BHs H8HEF inasserilest
sTesuTevnilgens wing)?

A. 535

B. 540

C. 547

D. 552

Number of Princely states in India in 1947 was

54) SpsserLaujsEmst wmj  HeuunsGasyest

61601 SieMPS&LILI(HEMT?
A. (pgeoMiD JMeyrmeg6sT
B. (psevrd (5Gevnsgimigest

Learning Leads To Ruling
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C. @pgeomd nn@eyiSysst
D. @nesorLmd nn@eyb Syt

Who among the following is called as “ Sivapaatha
Sekaran “?

Rajarajan I
Kulothungan I
Rajendral

D. RajendranI

owp

55) Sp&stILauMmI6T aIenEMUEIST & mesoTL

G661 6T6vI6U?
1) sesfl
2) wGrysoTeny

3) CBLitpwest
4) aflwmpest
A 1,28&3
B. 2,3&4
C.1,3&4
D. 1,2,3&4
Which of the following planets have rings?

1) Saturn
2) Uranus
3) Neptune
4) Jupiter

A 1,2&3

B. 2,3&4

C.1,3&4

D. 1,23&4

56) seupns QunmbHluisienens C5iH0s 0.

1) unessTipWIfE6T — Hleerfleusmousst
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2) Gampiset — Qb (H EpG&FSlwssT
3) Ganise — Qb (h (G TELNG 6T
A 1w (Ho
B. 1&2
C. SiemerisgId
D. ergleyislevemev

Choose the wrongly matched pair.

1) Pandyas - killivalavan
2) Cholas — Nedunchezhiyan
3) Cheras — Neduncheralathan

A. lonly
B. 1&2
C. All

D. None

57) opbHy sneflsns] eesim iemPSHSILILL6u

wmg?

A. gi6vggmed]

B. #nGungd)

C. si6uifl (gLILIeTBTESDTT

D. fleungd)

Who was called as Andhara Kalidasa?

Tuljaji
Serafoji

Aluri kuppana
D. Sivaji

owp

58) HlF wGsngnemeu wnhemLW igniod) Qetinil

Qeuerfluil ipwing?

A. LIMIMEBLOESTLD
Learning Leads To Ruling
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B. Ugsw whSHif
C. ®lWwrss Henevellf
D. semevemio 6ulp&a\(6hIT

Money bills cannot be introduced without the
approvalof _____.

A. Parliament

B. Prime Minister

C. President

D. Attorney General

59) SipsetorLeummieT 618 Flenewor HH06OTHEIGHET
aunby 15nfl QEweoLBauens s QFIEmg)?

A. QewemIssIb HSI Guimenesor
B. semL Gumenevot
C. oyeuesst GsL L Guiymenesst

D. 58 (psom aflesteyd B Guigmemesst

Which among the following prohibits a
subordinate court from acting beyond its
jurisdiction?

Mandamus
Prohibition
Certiorari

D. Quo Warranto

owp

60) SpsevLeupmier  HlF QBBSHY Hlemev
QgnLijunest 5758 6181?

A. 5755 352
B. #1585 354
C. 158 358

D. 558l 360
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Which of the following Article is related to
Financial Emergency?

Article 352
Article 354
Article 358
Article 360

oo wp

61. Match the following:

a) 13+6°+8° 1.2
7

b) Value of 2.27

c) 45% of 60 3.7

d) Radius of a circle whose 4.729
circumference is 44 cm

a b c d

a 4 1 2 3

b 1 4 2 3

C. 4 2 3 1

d. 3 1 4 2

a) 13+6%+8° 12
b) Value of 2.27
c) 45% 4657 60 3.7

d) 44 cm &pmeneyemL W eul L et o0 4. 729

a b c d
a. 4 1 2 3
b. 1 4 2 3
C. 4 2 3 1
d. 3 1 4 2

62. How many bricks will be required to construct
awall 8 m long, 6 m high and 22.5 cm thick, it being
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given that each brick measures 25 cm x 11.25 cm x
6 cm.

a. 6400 b. 6300

c. 6200 d. 6500

Q(h Seurflest Hemb 815, 2wigd 6 15, FigeiT (1&6V1D)
225 Q815 SeneyseT QENTTILEl. QEHaInN]
sLhausn@ 25 Q&5 x1125 Q&15. X 6Q&.15

SleNYG6T  Q&HMToIL.  6THFHe60T QA FHEIGHELE6IT

CzemauliuBElmg)?
a. 6400 b. 6300
c. 6200 d. 6500

63. A number is doubled and 9 is added. If the
resultant is tribled, it becomes 75 what is that
number?

a.35 b.6
c.8 d. None of these

@ eTeuvTevvileT @(H LLEIGLEST 9RFally I(HLD

aflemL (PILEISNS WIHMLUILLLTEY au(b aflenL 75

eTeuflev ibG eT6vwT WiNG)?
a.35 b.6
c.8 d. srgiaislevemen

64. Find the value of J6 +vV6+vV6 + .

a.3 b.2
c.4 d.1
\/6+\/6+\/6+ -+ 65T SIEMLIS SHT6vuTS:
a.3 b.2
c.4 d.1
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65.If =~ = a;—— =b and 2= c, where a, b, c are all
x+y x+z y+z

non-zero numbers, then x equal to

2abc abc
" ac+bc—ab " ab+bc+ca
c 2abc 2abc
" ab+bc—ac " ab+ac—bc
xy xz . . yz . .
——=3;—=b wmm|b =—=c, wmmb a, b, ¢ y,Hwest
x+y x+z DO y+z ! DMI> 4, D, € 3p

LLSWIDMHM 6T6v018:61T eTevfleb X — 6ot oIy

2abc abc
" ac+bc—ab " ab+bc+ca
c 2abc 2abc
" ab+bc-ac " ab+ac—bc

66. The sum of two numbers is 2490. If 6.5% of one
number is equal to 8.5% of the other. Then find the

numbers
a. 989, 1501 b. 1011, 1479
c. 1401, 1089 d. 1411, 1079

B etevvIserflett sa(Bsmev 2490. e srevvrevvilest 6.5%
, LHQWM(H eTevvrevuilett 8.5%M(@ &b erevflev BB

6T6BOTSH 6016115 GITGUUT.
a. 989, 1501 b. 1011, 1479
c. 1401, 1089 d. 1411, 1079

67. The least number of five digits which is exactly
divisible by 12, 15 and 18 is

a. 10010 b. 10015
c. 10020 d. 10080

12, 15 womwo 18-946v eu@upw BlasFHMlw
BHhHl6vs:s: eTevor WINg)?

a. 10010 b. 10015

c. 10020 d. 10080

68. LCM of two prime numbers x and y (x > y) is 161.
Then the value of 3y — x is
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a.-2 b.-1

c.1 d.2

X womib y (@@ X >y) etesim Qb usN etesursseiflest
15.@ur.io. 161 erevfleév 3y —x 61 o)LL eTebTLIS)

a.-2 b.-1

c.1 d.2

69. If 6 men working 8 hours per day and earn Rs.
8400 per week, then 9 men working 6 hours per
day will earn per week:

a. Rs. 8,400 b. Rs. 9,450

c. Rs. 16,200 d. Rs, 16,800

6 Gui @ HTeme6Nd: (& 8 evvfl BB Geuemev GI&LIZ),
QM eamsSnE em 8,400 swundsHestmenty.
etevflev 9 GuIf (I BTeMeNs (G 6 Wevvfl CBD Geucmev

QE1g) QB UTTSSD(S eTeueueney FLMSILILINTG?
a. Rs. 8,400 b. Rs. 9,450
c.Rs. 16,200 d. Rs, 16,800

70.1f 2 = % and 8a + 5b = 22, then the value of ais

a.l b.2
4 2
c.2 d..
7 9
a 3 . . _ . g .
> =, wbomb 8a + 5b = 22, eterflev a-ebr wHIY
G615,
a.l b.2
4 2
c.2 A
7 9

71. Insert the missing number
7,26,63,124,215,342, _________

a. 481 b. 511
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c.391 d. 421

Qaen@ssiulL  Qznifleo allGUlL  eTesuTenesoIs:
SIT6T0TS.

7,26,63,124,215,342, _________

a.481 b. 511

c. 391 d. 421
72.1fa:b=3:2,b:c=3:4,c:d=2:3finda:b:cd
a.3:2:4:3 b.9:6:8:6
€c.9:6:8:12 d 3:6:8:12
a:b=3:2,b:c=3:4,c:d=2:3@evflév a:b:c:d g
SIT6BoT
a.3:2:4:3 b.9:6:8:6
c.9:6:8:12 d. 3:6:8:12

73. A pole 50 m high stands on a building 250m
high to arm observer at a height of 300m, the
building and the pole subtend equal angles. The
distance of the observer from the top of the pole is

a.25m b.50 m

c.25V3m d. 25V6m

@ swub 50 15 2wpsHeo 250 15 2 wippsier QH
sLligL 5Hlev Cev 2 6iteng). 300 15 2w5Hev 2 eitem
QM wafllsmisE iHS SwUWD, SligLpb Gy
Cr Ganewmisdlev QHEEMS. b Wevflsedr
sTeuaueney FMHHv HS sHusHlest 2 &flemwLl

LImjUmeoT.
a.25m b.50m
c.25v3m d. 25V6m

74. The radius of a circle is increased by 1% what is
the increase percentage in its area?
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a.1% b.1.1%

C.2% d. 2.01%

QW ealLsdHett b 1% 2w@mHns)
Ssual L5 HetT 2wihgleien LPlenU &56i55S5 60

gam|?
a.1% b. 1.1%
c.2% d.2.01%

75. If 15% of 40 is greater than 25% of a number by
2. Then find the number

a.12 b.16

c.24 d.32

40-6571 15%, 61 etevvtevvilest 25% g5 aflL 2 S1Hs0N5
2 6iTeng)| eTeufley IbG 6T6TTTENETBIE: HITETDT.

a.12 b.16

c.24 d. 32

76. 4 men and 6 women can complete a work in 8
days, while 3 men and 7 women can complete it in
10 days. In how many will 10 women complete it.

a.35 b. 40

c.45 d. 50

@@ Gouemevenw 4 Sy evoTHsEHD, 6 CLIETTISEHLD
Gaibgl 8 mMLsem QawHlpmiser, Guoeib Cs
Geuemevenwu 3 oy, 6tuTH(EHLD, 7 ClUETTIS(EHLD CHiHSI
10 priser Qauflpmiser. 10 QuesorssT WL (HD

3HY Ceauemeverws eGH emenT HLS6flev Qg

(Wi LILIMF& 61T

a.35 b. 40

c.45 d. 50
: V5+V3

77. Find the value: N
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a.3+/15 b.4 +/15
c.2+/12 d. 4+/12
S)LIL| M6t : gtg

a.3+/15 b.4 +/15
c.2+/12 d. 4+/12

78. Three numbers are in the Ratio 1:2: 3 and their

H.C.F.is 12. Find the numbers.
a. 4,8, 12 b. 5,10, 15
c. 10, 20, 30 d. 12, 24, 36

ewedtml elevorgem 1 @ 2 @ 3 etetim ellEls5HSlev

Siemiobgleitenest. Heuflett 15.Qumeu 12 erevflev

SiIHG 6T6TUTHE0I61TE: SM6TUTS.
a.4,8,12 b. 5,10, 15
c.10, 20, 30 d. 12, 24,36

79. A cubical tank can hold 27,000 litres of water.
Find the dimension of its side (in metres)

a.27m b.9m
c.3m d. 6m

Qb Hev1& 587 auigeu B85 QaMiipuilstt Qs meiTeneney
27,000 eI L1} eTevfl6v DIB6OT LGS i6MeDICUS SHT6TOT

(5L Lflev).
a.27m b.9m
c.3m d. 6m

. 1 1
80. Find " of 2 s

11 5
a.— b. =
20 11
7 9
c.— d—
20 11
! &5 2 ! SIT660TS
4 @ 5 -
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3 >0 %-H
7 9

Q. — FF. —
20 11

81. “(GH6UTIL6IT: EMEFHL-QPEMFUD  AUMPSENSHWILD”
uss 560 opAflwiy wm? [“Kundan: Saigal’s Life &

Music"]

[A] seflam s
[Bl 6275 85

[C] 218178 &&5)

[D] @l

Who is the author of the book “Kundan: Saigal'’s Life &
Music"?

[A] Kanika Kapoor
[B] Sharad Dutt
[C] Akriti Kakar
[D] Khushi

82. Asian Development Outlook 2019 &ewoflss)
QeuefluilLL Sipflsemaiiug 2019-20 Hiflwnessngso
@ndHwneilest Lliglfl euenjsd) e15ZH6mevT FHAIHLONG
BOHG0?

[A]7.1%

[B]7.3%

[C]17.2%

[D] 7.4%

What is the India’s GDP growth forecast for FY20,
according to the Asian Development Outlook 2019?

[A] 7.1%
[B] 7.3%
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[C]17.2%

[D] 7.4%

83. sSusHu Qeufsefles SPlwiLLL emwsifl
umevld 6TH s 4 HfledT 165 &L LLILIL (H6iTeng)?

[Al €55

[B] grrel

[C] 5Ll60sn

[D] eS6v1d

Maitri bridge, which is in news recently, is build over
which of the following rivers?

[A] Indus

[B] Ravi

[C] Satluj

[D] Jhelum

84. sfuSHlev 26v8 SevvtersilQiauly aflflliLesonje)
Sevnd e11BUNG) Sigy)IsflHsLIULLE?

[A] eptagev 5

[B] eyLi6L 4

[C] eyLim6v 3

[D] sptagev 2

On which date, the 2019 International Mine
Awareness Day is observed recently?

[A] April 5
[B] April 4
[C] April 3
[D] April 2
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85. ICT osmLisl Lifllsgy 2019 wnkn@h  emiE
BenLCUHMmE?

[A] Qgguitiyy
[B] Hlw, @L6v6S
[C] LGerr

[D] Q& sitement

Which city is the venue of the ICT Academy Bridge
2019 conference?

[A] Jaipur

[B] New Delhi

[C] Pune

[D] Chennai

86.2019 HAw_igev U6 LLL G605 Gleuettn QrbdHlw
evGeumep afiy wmj?

[A] Foyev Gamaen

[B] pmd\& LebTL 68T

[C] amribs Lmev &b
[D] emanerv Gumest&gm

Which Indian squash player has won the 2019 Seattle
Open title?

[A] Saurav Ghosal
[B] Ramit Tandon
[C] Harinder Pal Sandhu

[D] Cyrus Poncha
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87. UpuepssdHent somiumsSHlev 'Bedin 1' etevt
QuuiflLiul Beitenr Al i6ToTLSHe0d SHevorLMlibS
aflesorQleusfl QBMemevBHNs:SHlullest @I eT6dTewT?

[A] Astro2
[B] Astrosat
[C] Hisaki
[D] Hubble.

Which space telescope has discovered a new dwarf
galaxy ‘Bedin 1’ in the cosmic neighbourhood?

[A] Astro 2

[B] Astrosat

[C] Hisaki

[D] Hubble

88. sfuGHlev QeuFseflev smewwriulL GSAT-31

gLédler QOB

QewmensCanelr,  6HS

aflesoresoflev eyeuriLiLLg)?
[A] NQmEpr& @estlwm

[B] uhamfGsm L

[C] LiGemmiflLm

[D] wrmerv@am

GSAT-31, which is in news recently, is launched from
which of the following places?

[A] French Guiana
[B] Sriharikota
[C] Florida

[D] Moscow.
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89. wn(p&E 2017940 Spevor(hssmesT ISRS FmLiy
Gpdlw LCGwmevCGuHwev eaflrg (LTA afllmHg)
euprIsLILL (HeiTeng)?

[A] Qgwibs Wy Csmep

[B] wGeotnasy QyLile

[C] amiSLs & L]

[D] @QuimstT g ME) (mH6ip6vBTEHT

Who has been conferred with ISRS National
Geospatial Award for Excellence-2017 (LTA Award)?

[A] Jayanta Kumar Ghosh
[B] Manorhar Reddy

[C] Hardeep Singh Puri
[D] Pon Radhakrishnan

90. 2019 @nSHw uGemmon SHenguur  eflpm
BeOLGUMID QL 1b 6187

[A] ev&GeotT

[B] uevted)

[C] uGeor

[D] ugy $l6ves)

Which city is the venue of the 2019 Indian Panorama
Film Festival (IPFF)?

[A] Lucknow
[B] Panaji

[C] Pune

[D] New Delhi

91. LICG 66T Q6mL 556V &651606UIT WIMI?
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[A] sevllgm epiom

[B] B Geugzn)|GamLimev

[C] GamLobg Limjseurm

[D] 2. 69 sriicumssT

Who has been appointed acting Chairman of LIC?
[A] Sunita Sharma

[B] B Venugopal

[C] Hemant Bhargava

[D] Usha Sangwan

92. mLUuUnmesoil J C  GLesfluey eflmgisE
Caiib0\&[Hs &L (DsiTemeury wmj?

[A] U Gorett sbL

[B] efeor

[C] Gggmeip Lyasmeip

[D] = mesT(Werm @ILIM6sTesTLOLOM

Who has been chosen for the 2019 J C Daniel Award?
[A] Aranmula Ponnamma

[B] Sheela

[C] Srikumaran Thampi

[D] Jose Prakash

93. USIBC mLuunesor(h 2 evsenmailu Senevenioggiel
all(pg15@ (USIBC Global Leadership Award)
@sflunflweiter @S W - @ wIf&EST wmj?

[A] opevBs FHEHTCFST6T
[B] ©1G@&ns oislignmey
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[C]l &baT LNFens
[D) Qg sbSHrGasy

Which Indian-American personality has been chosen
for the USIBC Global Leadership Awards 20197

[A] Jay Chandrasekhar

[B] Anand Chandrasekaran
[C] Sundar Pichai

[D] Ashok Amritraj

94. 2019 eJeyZHemevat FlevLLbev afl(Hg CuUbHM QrbHw
Sinflallwed flEn T wny?

[A] G Satheesh Reddy

[B] Kailasavadivoo Sivan
[C] Punit Goenka

[D] S Somanath

Which Indian scientist has been conferred the Missile
Systems Award 2019?

[A] G Satheesh Reddy

[B] Kailasavadivoo Sivan

[C] Punit Goenka

[D] S Somanath

95. 2022 oflw aflemenun_(Baeflev LietTou(md 61HS
eflenemun (b GeijsaUUL(HeiTeng)?

[A] Cricket

[B] Paragliding

[C] Pencak Silat

[D] Roller sports
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Which of the following sports has been included in
2022 Asian Games?

[A] Cricket

[B] Paragliding

[C] Pencak Silat

[D] Roller sports

96. 2605 ocuettailevn® SHlevisHlest (WWD-2019)
&(HLICILIM(H6IT 6T60T60T?

[A] Listen to the young voices

[B] Life Below Water: For people and planet
[C] Big cats: predators under threat

[D] The future of wildlife is in our hands

What is the theme of the World Wildlife Day (WWD-
2019)?

[A] Listen to the young voices

[B] Life Below Water: For people and planet
[C] Big cats: predators under threat

[D] The future of wildlife is in our hands

97. S1psevrTLem6sus6iflev 611G HSHND &:SFLOMEDT HSJLD

sleotm| 2019 b pevuIh  GMlemo iy
siflsensuilev Sionesflssnur (Heiteng)?

[A] @&y
[B] 108517
[C] pmiy
[D] o108 mUNS

Which city has been adjudged cleanest city in Swachh
Survekshan 2019?
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[A] Indore

[B] Mysore

[C] Raipur

[D] Ahmedabad

98. #jeuGshs wnev HengHleor (International Jazz
Day) mLuunessi(h uSHlunesg), e6Hs HLlged
UNESCOy,6b QgmLruisiurLg)?

[A] @bElwim

[B] &perodlGredlwim

[C] BwFevmbg
[D] 6ot

The 2019 edition of International Jazz Day (LJD) was
launched by UNESCO in which of the following
countries?

[A] India
[B] Australia
[C] New Zealand

[D] Canada

99. pLUUNEGHIR 2698 uSSHflens &IHIT
SHenisEManest &HLQLITIHEIT eTedTe01?

[A] Media for Democracy: Journalism and Elections in
Times of Disinformation

[B] Keeping Power in Check: Media, Justice and the
Rule of Law

[C] Access to Information and Fundamental Freedoms

[D] New Voices: Media Freedom Helping to Transform
Societies
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What is the theme of the 2019 edition of World Press
Freedom Day (WPFD)?

[A] Media for Democracy: Journalism and Elections in
Times of Disinformation

[B] Keeping Power in Check: Media, Justice and the
Rule of Law

[C] Access to Information and Fundamental Freedoms

[D] New Voices: Media Freedom Helping to Transform
Societies

100. 2019 968l SIGweu wevwHH CuMiguilev,
SpLeulf 65 £.&), LifervenLsv LNflaflév Hrigsb Geusstm
@iHw ey wmg?
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[A] Quergd &5
[B] usgprar Lesflwim
[C] pri@6b ieun@ry
[D] &1618 wrell&

Which Indian wrestler has won gold in the men’s 65kg
freestyle at the 2019 Ali Aliyev wrestling
tournament?

[A] Mausam Khatri
[B] Bajrang Punia
[C] Rahul Aware

[D] Sumit Malik
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1) D | 21) | ¢ | 4) | c |61 | A | 8) | B
2 | B 22| c |42 ] B |62 | A [82)] ¢
3) | B |23 B |43 | B |63 | c |83 | A
49 | A | 29| D |49 | c |64 | A |84 | B
5 | B | 25| B |45 | A |65 | A |8) | D
6) | C | 26) | A | 46) | B |[66) | D | 8) | B
7 | D |2n | ¢c [ 4n | D [ 6nn | D | 87 | D
8 | B [ 28)| B |48 | c |68 | A | 88 | A
99 | ¢ [ 299 D [ 49| B [ 69| B |89 | A
100 | B [30)] A [50)]| ¢ [70] B |9)]| D
1) | A [3) ] c [5)] A || B |9)]| ¢
12) | B [ 32| B |52 | D |72)] c |92 | B
13) | A [3) | D |[5)]| D |[7] D |9)]| cC
14) | D [ 34) | D |54 | A [799| D | 949 | A
155 | ¢ [ 3 | A |5 | D |7 ] B |9 | a
6) | A | 36) | A |5) | B |7) | B | 9) | B
17 | B [3n | A |50 ¢c |m] B |97 a
18) | A [ 3 | B |58 | c |78 | D | 98 | B
199 | D [ 39 | ¢c [59) ]| B [79 | c [9) | a
200 | ¢ | 400 | D [60) | D |80 | A |100)| B
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